



Déterminez quel nombre rend correct les deux équations.

1) _____ + 4 = 17
17 - 4 = _____

2) _____ + 3 = 19
19 - 3 = _____

3) _____ + 1 = 20
20 - 1 = _____

4) _____ + 10 = 18
18 - 10 = _____

5) _____ + 5 = 17
17 - 5 = _____

6) _____ + 3 = 13
13 - 3 = _____

7) _____ + 7 = 17
17 - 7 = _____

8) _____ + 17 = 20
20 - 17 = _____

9) _____ + 10 = 12
12 - 10 = _____

10) _____ + 1 = 10
10 - 1 = _____

11) _____ + 8 = 15
15 - 8 = _____

12) _____ + 5 = 8
8 - 5 = _____

13) _____ + 15 = 20
20 - 15 = _____

14) _____ + 4 = 15
15 - 4 = _____

15) _____ + 1 = 19
19 - 1 = _____

16) _____ + 1 = 18
18 - 1 = _____

17) _____ + 1 = 9
9 - 1 = _____

18) _____ + 6 = 14
14 - 6 = _____

19) _____ + 2 = 10
10 - 2 = _____

20) _____ + 14 = 18
18 - 14 = _____

Réponses

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Déterminez quel nombre rend correct les deux équations.

1) $\underline{\quad} + 4 = 17$
 $17 - 4 = \underline{\quad}$

2) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

3) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

4) $\underline{\quad} + 10 = 18$
 $18 - 10 = \underline{\quad}$

5) $\underline{\quad} + 5 = 17$
 $17 - 5 = \underline{\quad}$

6) $\underline{\quad} + 3 = 13$
 $13 - 3 = \underline{\quad}$

7) $\underline{\quad} + 7 = 17$
 $17 - 7 = \underline{\quad}$

8) $\underline{\quad} + 17 = 20$
 $20 - 17 = \underline{\quad}$

9) $\underline{\quad} + 10 = 12$
 $12 - 10 = \underline{\quad}$

10) $\underline{\quad} + 1 = 10$
 $10 - 1 = \underline{\quad}$

11) $\underline{\quad} + 8 = 15$
 $15 - 8 = \underline{\quad}$

12) $\underline{\quad} + 5 = 8$
 $8 - 5 = \underline{\quad}$

13) $\underline{\quad} + 15 = 20$
 $20 - 15 = \underline{\quad}$

14) $\underline{\quad} + 4 = 15$
 $15 - 4 = \underline{\quad}$

15) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

16) $\underline{\quad} + 1 = 18$
 $18 - 1 = \underline{\quad}$

17) $\underline{\quad} + 1 = 9$
 $9 - 1 = \underline{\quad}$

18) $\underline{\quad} + 6 = 14$
 $14 - 6 = \underline{\quad}$

19) $\underline{\quad} + 2 = 10$
 $10 - 2 = \underline{\quad}$

20) $\underline{\quad} + 14 = 18$
 $18 - 14 = \underline{\quad}$

Réponses1. 132. 163. 194. 85. 126. 107. 108. 39. 210. 911. 712. 313. 514. 1115. 1816. 1717. 818. 819. 820. 4